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Revised FINAL ANSWER KEY :  General Studies, Paper - I 

Series-A Series-B Series-C Series-D Remarks 

Q No. Answer Q.No. Answer Q.No. Answer Q.No. Answer 

1 B 11 C 16 D 41 A  

2 C 12 D 17 A 42 B  

3 A 13 B 18 C 43 D  

4 D 14 A 19 B 44 C  

5 A 15 B 20 C 45 D  

6 C 16 D 21 A 46 B  

7 D 17 A 22 B 47 C  

8 B 18 C 23 D 48 A  

9 B 19 C 24 D 49 A  

10 D 20 A 25 B 50 C No Change. Correct answer is option 'D'. 
Gulf Co-operation Council and Organization 

of Islamic Countries both opposed & 

registered their official complained on 

'PROPHET CONTROVERSY' on 6th & 7th 

June 2022. Arindam Bagchi spokesman of 

Ministry of external affairs, GOI, 

categorically rejected Organization of Islamic 

Countries unwarranted and narrow minded 

comment. He reiterated that Indian govt." 

accords the highest respect to all religions" 

on 9th June, 2022. On 24th June, 2022 Vinay 

Mohan Kwatra, Foreign secretary issued 

statement, "Gulf countries understand 

India's position on prophet controversy", 

prior to PM MODI's visit to UAE on 28th 

June, 2022. In view of the facts mentioned, 

option 'D' is correct. 

11 A 21 B 26 C 1 D  

12 C 22 D 27 A 2 B  

13 D 23 A 28 B 3 C  

14 A 24 B 29 C 4 D  

15 D 25 A 30 B 5 C  

16 B 26 C 31 D 6 A  

17 B 27 C 32 D 7 A  

18 A 28 B 33 C 8 D No Change. Correct answer is option 'A'. 

Advertisement for recruitment of Agni Path 

Scheme of Indian Army, Danapur Cantt. of 

Agniveer Tradesman is 8th pass is eligibility 

criteria hence option 'A' is correct 

19 D 29 A 34 B 9 C  

20 C 30 D 35 A 10 B  

21 B 31 C 36 D 11 A  

22 A 32 B 37 C 12 D  

23 A 33 B 38 C 13 D  

24 A 34 B 39 C 14 D  
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Series-A Series-B Series-C Series-D Remarks 

Q No. Answer Q.No. Answer Q.No. Answer Q.No. Answer 

25 D 35 A 40 B 15 C  

26 C 36 D 41 A 16 B  

27 C 37 D 42 A 17 B No Change. Correct answer is option 'C'.  

As per the Indian Army chief statement 

sated 17th June, 2022 (ToI) said that the 

training of first Agniveers will begin in 

December, 2022 and the active service will 

commence in the middle of 2023. Hence the 

option 'C' is correct. 
28 D 38 A 43 B 18 C  

29 C 39 D 44 A 19 B  

30 C 40 D 45 A 20 B  

31 A 41 B 46 C 21 D  

32 A 42 B 47 C 22 D No Change. Correct answer is option 'A'.  

ANKITA (Raina) is an International Level 

professional player. Since 2013, she has 

regularly been the Indian number one in 

both singles and doubles. She has won one 

title on the WTA tour and one at WTA 125 

tournaments, along with 11 singles and 24 

doubles titles on the ITF. Other player 

named Ankita is a National Volleyball 

player. Hence Correct option is 'A'. 
33 C 43 D 48 A 23 B  

34 B 44 C 49 D 24 A No Change. Correct answer is option 'B'.  

As per the question expected date of 

conclusion of FTA between India & UK is at 

the end of October. Hence option 'B' (Till 

Deepawali) is correct. 
35 C 45 D 50 A 25 B  

36 Deleted 46 Deleted 1 Deleted 26 Deleted Since Exam was held on 12.11.2022 
when NDA was not the ruling party. 
Hence the question is deleted. 

37 A 47 B 2 C 27 D No Change. Correct answer is option 'A'. 

Since contribution of service sector in GDP 

of Bihar is 61.2 percent in comparison of 

Industry- 19.5% and Agriculture 19.2% (as 

per Bihar Economic Serve 2021-22). Hence 

the correct option is service sector i.e. 'A'. 
38 B 48 C 3 D 28 A  

39 C 49 D 4 A 29 B  

40 D 50 A 5 B 30 C  

41 A 1 B 6 C 31 D  

42 C 2 D 7 A 32 B  

43 C 3 D 8 A 33 B  

44 B 4 C 9 D 34 A  

45 Deleted 5 Deleted 10 Deleted 35 Deleted Deleted. 

As option A, B and C all come under land 

Resources and the question requires NOT 

land resource. Hence option 'D' cannot be 

true. The framing of the question is 

defective. 
46 C 6 D 11 A 36 B  
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Q No. Answer Q.No. Answer Q.No. Answer Q.No. Answer 

47 C 7 D 12 A 37 B  

48 D 8 A 13 B 38 C  

49 D 9 A 14 B 39 C  

50 C 10 D 15 A 40 B  

51 B 70 C 92 D 109 A  

52 A 71 B 93 C 110 D  

53 C 72 D 94 A 111 B  

54 C 73 D 95 A 112 B  

55 D 74 D 96 D 113 D  

56 B 75 C 97 D 114 A  

57 D 76 A 98 B 115 C  

58 B 77 C 99 D 116 A  

59 B 78 C 100 D 117 A  

60 A 79 B 101 C 118 D  

61 B 80 C 102 D 119 A  

62 B 81 C 103 D 120 A  

63 B 82 C 104 D 121 A  

64 C 83 D 105 A 122 B  

65 C 84 D 106 A 123 B  

66 A 85 B 107 C 124 D  

67 B 86 C 108 D 125 A  

68 A 87 B 109 C 51 D  

69 D 88 A 110 B 52 C  

70 D 89 A 111 B 53 C  

71 C 90 D 112 A 54 B  

72 A 91 B 113 C 55 D  

73 B 92 C 114 A 56 B  

74 D 93 A 115 B 57 C  

75 A 94 B 116 C 58 D  

76 B 95 C 117 D 59 A  

77 A 96 B 118 C 60 D  

78 D 97 A 119 B 61 C  

79 C 98 D 120 A 62 B  

80 Deleted 99 Deleted 121 Deleted 63 Deleted Correct answer is scattering which is not 
given in the given options. Hence the 
question is deleted. 

81 B 100 C 122 D 64 A  

82 C 101 D 123 A 65 B  

83 A 102 B 124 C 66 D  

84 C 103 A 125 B 67 C  

85 D 104 A 51 B 68 C  
86 D 105 A 52 B 69 C  

87 B 106 C 53 D 70 A  

88 C 107 D 54 A 71 B  

89 D 108 A 55 B 72 C  

90 B 109 C 56 D 73 A  

91 B 110 C 57 D 74 A  
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Q No. Answer Q.No. Answer Q.No. Answer Q.No. Answer 

92 D 111 A 58 B 75 C  

93 C 112 A 59 B 76 C  

94 D 113 A 60 B 77 C  

95 B 114 C 61 D 78 A  

96 C 115 D 62 A 79 B  

97 B 116 C 63 D 80 A  

98 B 117 C 64 D 81 A  

99 D 118 A 65 B 82 C  

100 C 119 D 66 A 83 B  

101 A 120 B 67 C 84 D  

102 B 121 C 68 D 85 A  

103 D 122 A 69 B 86 C  

104 D 123 A 70 B 87 C  

105 A 124 B 71 C 88 D  

106 D 125 A 72 B 89 C  

107 C 51 D 73 A 90 B  

108 D 52 A 74 B 91 C  

109 A 53 B 75 C 92 D  

110 C 54 D 76 A 93 B  

111 B 55 C 77 D 94 A  

112 B 56 C 78 D 95 A  

113 D 57 A 79 B 96 C No Change. Correct answer is option 'D'. 

Charles Babbage constructed the first 

mechanical computer. So he is considered as 

father of computer Alan Turing has been 

considered as father of theoretical computer 

since he gave a mathematical theory only, 

Turings names is not mentioned. So Option 

'D' can be considered as correct. 
114 B 58 C 80 D 97 A  

115 A 59 B 81 C 98 D  

116 D 60 A 82 B 99 C  

117 B 61 C 83 D 100 A  

118 C 62 D 84 A 101 B  

119 A 63 B 85 C 102 A  

120 B 64 C 86 A 103 B  

121 A 65 B 87 C 104 D  

122 B 66 C 88 D 105 A  

123 B 67 C 89 D 106 A  

124 D 68 A 90 B 107 C  

125 C 69 D 91 A 108 B  
 


